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EEAR % RATE R ERHEEa—F ERHEES (E’?fs) ((;B;)Ev;l; LARJLO LARJLT LRJL2 LRJL2A LARJL2B LARLS LARLSA LRJL3B LAJLE  LALS
DPC LIS bt 7033010225 HRFAR 23.83 0.08 2.83 10.67 8.33 - - - 1.92 0.08 0.00 0.00
DPCLISMAERRE "111700368 RE 66.17 167 442 2158 - 2817 6.42 - 3.92 1.58 0.00 0.08
DPCLISMARE 140210328 EHE)NNEYT—av ik 44.50 0.00 258 39.58 2.08 - - - 0.25 0.00 0.00 0.00
DPC LIS bt 230400417 ZHRFERIN YTV 47.83 0.17 0.58 13.17 - 2692 3.92 - 3.08 0.17 0.00 0.00
DPCLUS} TR "242705150 BAFNSERE 145.42 100 10750  14.17 - 1767 2.00 - 3.08 1.00 0.00 0.00
DPCLAS} il "350311776 & ER R 64.58 017 1092 4267 - 6.58 1.92 - 2.33 0.17 0.00 0.00
DPC LIS} B "380210603 SHAE R 16.25 0.08 2.25 9.67 - 3.08 0.42 - 0.75 0.08 0.00 0.00

DPCLISMERE F15 584 0.5 18.7 216 5.2 16.5 29 - 22 04 0.0 00
PR FELEBDHEM 0.08 0.00 0.08 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00
25500 BRFNET 2 A 1.08 0.00 0.17 0.83 0.08 - - 0.00 0.00 0.00 0.00 0.00
k)3 AN AT 0.33 0.00 0.08 0.25 0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.00

DR FH 0.5 0.0 0.1 04 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
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